Lecture 10 - Monday, February 13



Announcements

e Assignment 2 released
+ Required & Recommended Studies

+ Looking Ahead: Programming Test 1
e Assignment 1 solution released
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SLL Operation: Inserting to the Front of the List

@Test
public void testSLL_02(Q) {
A2SinglylinkedlList list = new SinglylLinkedlList();

"
assertTrue(list.getSize() == 0); 2 -7uea( jnew,Node
assertTrue(list.getFirst(Q == null); 3 PpSif_ (si _Q_)

v h 00) 4 0 X>|taiill= heaqd;

Alist.addFirst("Tom"); m) 5 MPAM
list.addFirst("Mark");

4.)8__7._2_6.,)-|-+ 'P ”
_Jlist. addFlrst@ } ¢ Pw‘“\y
st.getSize() == 3); .ﬂt"

assertTrue(li Bl
assertEquals("Alan", list.getFirst().getElement());
assertEquals("Mark", list.getFirst().getNext().getElement());
assertEquals("Tom", list.getFirst().getNext().getNext().getElement());
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SLL Operation: Accessing_the Middle of the List

list alan ! c‘( / mark
Gglyunked List (Node (Node
head

element “Alan” element “MarH"”

next next |

SLL elss
N L e——— o Trace: list.getNodeAti2,
2 if (i < 0 || 1 >= size) { /* error
3 else { ! . X
2 | S mm— current | index | index < 2 S’rar:;F Iteration
5 Node cylremat]= head; Ll X 021
6 -2, while (ind‘ZX <wiyT /+ exit when QJAV\ 0 0< A I'A'“,u-t >
7 /7 index ++;
8 {current = current.getNext () ; o
9 ton.

} .
10 return |current;
11 : o | 2| 2¢7

12 B} @
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"
Idea of Inserting a Node at index i «© ‘,4?[[’95*/

Case: addAt(i, e), where i > O lm
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SLL Operation: Inserting to the Middle of the List
odefoor® /
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@Test
public void testSLL_addAt(Q) {

SinglylLinkedList 1list = new SinglylLinkedList(Q);
assertTrue(list.getSize() == 0);

list
assertTrue(list.getFirst() == null); \P
v SinglyLinkedList

list.addFirst("Tom"); head
list¥addFirst("Mark");
list$4ddFirst("Alan");
assertTrue(list.getSize() == 3);

v
list.addA "Suyeen!');
list.addA4{(2;
assertTrue(Tist.getSize() == 5);

list.addAt(list.getSize(), "Heeyeon");
assertTrue(list.getSize() == 6);

assertEquals("Suyeon", list.getNodeAt(@).getElement()); if (i <0 || 1 > size) {

asser'tEquals("Alan" X list. getNodeAt(l) _getElement()); throw new IllegalArgumentException("Invalid Index.");
assertEquals("Yuna", list.getNodeAt(2).getElement()); ;lse "

assertEquals("Mark", list.getNodeAt(3).getElement()); if (o ::'02{

assertEquals("Tom", list.getNodeAt(4).getElement());
assertEquals("Heeyeon", list.getNodeAt(5).getElement());
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~=YpNode nodeBefore = ez‘”\lodeAt(i - 1) aA>
*-Node newNode = new Nodefe?)nodeBefore.getNext());
nodeBefore. setNext (newNode) ; D

size ++;
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